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Uhgwughy Yynnp Sudwl alip (pupwgwljwnpgp) Quithdwl Jhwynpp huigsph Lwliwlp -

puwn CPY whiwinuip ghup (hwq. npuwd)
nwuwlwpgdwi

1 2 3 4 5 6 7
Uwypwbpubp

09132100 Paughtu wpkdhnu quwupdwu hwpgnud thup 460 5500 2,530.0

09132100 PEUght nbgniywp quwlpdwl hwpgnud lhup 440 3000 1,320.0

09134210 “habwihu wnbhp (ddtnwht) qUwupdwu hwpgnid thup 460 1400 644.0

09134200 Fhabijwihtu unbihp (wdwnwht) quuwugdwl hwpgnud (hup 460 1000 460.0

30192700 Sphuwlwu whunypubp Jdbl wua nnwd 190000 1 190.0

39221130 Pwdwl (hjnyph) dbly wua wnintth 4000 3 12.0

39221130 Pwdwly Ukl wud wnnith 5000 3 15.0

39241120 “rwiwy Ukl wud hwun 200 10 20

39831221 Udwu (wtwine htinnily 0.5( Ukl wua hwun 700 20 14.0

39831241 | O6uwn, 8tnph by wa hun 250 18 4.5

39831245  |Ofwn, hbnnily 1.5 dbl wud hwn 900 5 4.5

39831242  |LJwgph thnph dbl wua hwn 300 5 1.5

39831280 Uwjwlh dwppbnt dhong ubl wiua hwwn 300 5 1.5

39812410 Ywhnyph thw)jbgunn dhegng Ukl wud hwwn 1800 10 18.0

39811300  |<nunwghpdhs onh dbl wua hwun 650 10 6.5




39513200 fanpb wuabkinnghlubp, bplsbkipw, pwonih dbl wud hwtn 250 300 75.0
18421130 Atinung nuwnbuwljwt Ukl wua qnyg 300 10 3.0
39831281 Uwjwiyh dwppdwt wp dbl wud hwin 500 30 15.0
39831283 Cwnnwlh Jwgdw jwpe dbl wua hutn 600 15 9.0
39836000 Uyt unynpwlul dbl wua hwin 800 3 2.4
39831272 Uwnitg, wdwl pfwbiwnt dbly wud hwwn 300 12 3.6
33761000 RniqLupwuh pnunp dbly wud wnntth 580 80 46.4
39831247 Uhinwhwtnn henniy' uwuhwugnygh huwduwn dbly wud hwwn 950 8 7.6
39514100 Fuwynun upphgutip, pwipwljw Ukl wua hwn 600 & 3.0
39514200 hunhwiingh upphsubip dbl wua hwwn 600 5 3.0
31531600 Stiptiuyht (wduy 120ud dbl wud hwtn 600 20 12.0
31531600 StpElwhu jwduy 120ul winwhny dbly wua hwun 6500 5 32.5
19641000 MinihEphibUwihu wwpl, wnph hwdwnp dbl wuda tnntth 1000 8 8.0
30121500 Snubipuwyht pwpppheutip dbl wua hwwn 40000 5 200.0
48820000  (Utpytip quuwupdwl hwpgnud huwin 5500000 1 5,500.0
30232231 Qwdwlwpgsh Gngin ulwywnwl (HDD) 1 quwuzdwu hwpgnud hwtn 300000 1 300.0
30236110 Utipytiph owbipuwinpy hhannniagniu (RAM) quwupdwu hwpgnu hwwn 225000 6 1,350.0
30232340 Upwnwpht uljwwnwlwlhp quwpdwu hwpgnud hwn 25000 1 25.0
30234500 <hannnugniu-Yphg qUuwupdwt hwpgmd hwn 20000 1 20.0
30234500 Upwnwipht hhgnnnyejniu Guwitpdwl hwpgnud hwin 50000 1 50.0
32420000 Shuwnkp quuwupdwl hwpgnud hwin 15000 1 15.0
30232110 Lwqbnuwiht wuhy quwtpdwl hwpgnud hwtn 600000 1 600.0
30237137 Shuwpuwpin quwupdwl hwpgnud huwin 30000 1 30.0
30234650 bytip hhannnieiniu 32GB quwudwl hwpgnud hwun 13000 10 130.0
32341120 UGwiupuiljuy ubly wua hwuwn 8000 10 80.0
32331500 Quilitugpnn uwpp dbl wua huwwn 85000 1 85.0




48760000 |-G Ll huduliwngsushl (b wid huwtn 200000 1 200.0
dpwanuwiht thwpkiputin
48460000  [Sdjwutiph pwquiutinh Ytipnidnipjwt opwghp ubly wud hwtn 18450 2 36.9
48761200 | “HUMHIWUGUING fuyph wlinuiignipju bl ws huwn 70000 2 140.0
hwjwuwnwghp
34351200 | 1R 3102121 wifnndtpbugh widwnynnp Sty wud hutn 63000 4 252.0
wiwhbdtpny
Ctiypnit Lhyw 4U2 21230055 wifinndbpbugh
Ukl wua hwin 75000 4 300.0
HEgla00 wudwnnnbip wiwhtdtpny L
Uuwwnwpbp
JU T-hwUpwlppnipnit (nwnBhwl)
«lwupwlppwlwl nunwuwlwu
hwuwnwnnipiniuttiph gnpdniibinuejwt dwuhtis
7981 dbl wua hwun 190 550 104.5
2R10000 2018-2019 nwnuwiuwlywt nwpdw hwdun e
Jwpswljuwit Jhawlwgpwljwu hwayunyniejwl
nwwannipint
Ownwjmpyniuubp
64211250 | PPULIWYLIL Guiah duipsuuinieyul dbly wid nnwil 484000 _ 484.0
Swinwynipiniutibp
ga211250 | THnhwSLILuLNR Wl 0qunugnnddul bl wils nwd 100000 _ 100.0
Yewp
Sndubiph Jwéwnph b Gwdthnprinniutubiph
Ukl wus wd 1000000 1 1,000.0
Smas QuiquwlEpudwt dwnwjnipniutbp 4 i
sormize  |Ldunutiptlultinh wwhuwwtdui quuwitdul hwpgnud npwid 2000000 i 2,000.0
dwinuwyniejniulitip
Cwdwluwngswht vwpptiph Wwhuwbdwl b
dbpwunpngdwl swnwynupjniuutin
dbl wua d 350000 1 350.0
20300000 Muwwndbuwhwudwy uwpptiph epwunpngdwt b L
Swinwynipniitbp
72411700 “ndbuwiht wuduwiunidutp Ukl wuda hwwn 10000 5 50.0
64211100 Cwupwjht htinwtunuwht dwnwjnupjniutbp ubily wud npwd 200000 1 200.0
64211130 Poowihu htnwfunuuwyht Swnwynipiniuubip Ukl wug npwd 600000 1 600.0
65300000 | FEUINWULLNRYL puiptudul U faw htin ot wibs Y dun/d 45 100,000 4,500.0
Guwwé dwnwyniejniitbn
2ph puwzfudut b npw htin Guwws
MMMWWNNN dwnuw)nipjniulitip Uil wud i 180 333 60.0
bnjninne htin Guwuws Sdwnuwinipjniubip




Fwgh pwzfudwt b npw htin Guupws

6520000 dbl wua P 147 272 400.0
foang Swunwijniniuubip Hu

90511200 | UUgwNUIAU wiph huiupdut bl wid nnwi 21360 2136
dwnwynipjntutbip

66110000 Pwulujhu dwnwynipjniuubp dbily wud npwd 100000 100.0

48441300 | w2lwwhuliul hwidwljungsuht by wiid nwy 170000 170.0
opwgpuihl thwpliputin

66511170 | PnlvwnnuwihgngUtinh htiun Yuuuus bl wid huitn 121000 121.0
wiwwhnwgpwlwy swnwjnuypjniutitip

64100000 | PUuhU L uniphubiruluht dbly wid fpw 30000 30.0
dwnwynipjnilibp

92410000  |«Snpdp» widuwgph pwdwunprnwgpnipniu dbl wud npwd 48000 48.0

6a7naze |- wnndbpiluwlbph il bl Wi hun 12000 36.0
Sdwnwjnipnititin

7271100 | LU hwilulungeuhl guitigh Lunnigdut db wi nnwd 700000 700.0
dwnwynipjnillbip

50711100 Onnpubhsh Jbpwtnpnguwl Swnwjnipn dbl wua npwd 80000 80.0

50610000 | ulanRl uwpplinh Yipuibnpnguu dbl wd nnwy 40000 40.0
wwhuywudwl dwnwynipniu

79631200 | -2fuwnulihgutinh depuiunnpuuandui () wb nnwd 30000 30.0
dwnuwynyzyniutibip

79631200 |- 2uwinwlhgbinh Yhpuiunpuuindut Ut w N 120000 120.0
Swinwjnipniuutip
Awnutwywt hwunwinniggniiubph
gnpdniubinupwt htin Yuwupws njwiutiph

79951111 u h 3000000 3,000.0

398 Gppndniejwit wpryniupubiph pttiwpllwt quatigv g -

ubidhuwph Ywqdwlbpydwl dwnwjnyejniu

79331200 Unghninghwljwl dwnwjniejnit dbly wud npwd 400000 400.0

79211100 Cwpuuwhwlwl Swnwjnie)nil Ukl wuda npwd 980000 880.0
Cunwdbup' 25,983
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1 2 3 4 5 6 7
Uwpwupubp
79111200 Lbpyuwjwgnigswlwt dwiuutp UGy wua npwd 995000 1 995.0
39294200  |Shntijwwndwlwu L gndwgnught wnuwInpwup dbly wud npwd 900000 1 900.0
30211200 Hnipwilhp hwdwlwpghy qUwupdwl hwpgnu hwn 172000 2 344.0
32250000  |Pgowyht htinwfunu dby wua hwwn 49000 16 784.0
30211210 Mwuptinwhu hwdwlwnghs quwudwu hwpgnud hwin 80000 4 320.0
30232110 Pwqdwbniulghntiw tuhs quwudwt hwpgnd hwn 150000 2 300.0
30121500  |Snubpuwjht puppphstbin bl wua huitn 45000 4 180.0
22461300 Snjwgnwihu unipbp dbly wud hwn 900000 1 900.0
Ushuwwnwiupubp
“tynpngubiph hwdwgnpdwlgnie)w
79810000 Prdhupuguyniu <uywunwl dpwgph dbl wua hwn 400000 1 400.0
tnwipbilul wdthnthhy prddytiinh niwwgpnipni
Ownuwjnipniuubp
79951111 Utidhuwiph Yuquwlbpuynud quuwpdwl hwpgnud npwd 8500000 1 8,500.0
Sndutinh uSwnph b Swdthnprnipniuutiph
n Bl wud ] 5500000 1 5,500.0
53211200 Ywquwybpwdwl dwnwjnipjniutibip Wl L
g0130000 | MMUnnwhnfuwnpdLl dutughuugyws bl wiud nnwd 990000 1 990.0
Sdwnwynipjniuubip
55111200 funphpnwlgnipjwl fwgdwpwnid dbly wua npwd 400000 1 400.0




Yppwlwu U JEpwywinpuunduu

650.
80000000 | 0 dbl wa npwd 50000 13 0.0
64100000 | "Uuruahit L uninhulinuijuyhl dbl wa nnwd 150000 i 150.0
dwnwynipjniuttip
CLAUUBLL 21,313




